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SECTION A - (5 x 2 marks)

There are 5 questions in this section.

Read the questions carefully. Choose the correct answer.,
Write its number 1, 2, 3 or 4 in the brackets provided.

1)  In308, the digit 3 stands for

(1) 3ones - (2) 3fens

(3) 3 hundreds (4) 30-ones -

2)  In419, the digit in the tens place is

@ 1 | @ 9

3) 40 @ 4

3)  Which of the following has the greatest value?
1) 602 (2) 650

(3) 629 | @ 620

4)  What is the missing number?

(1) 440 (2) 450

(3) 540 4) 550




5) 65 + 348 =

O 303 | . @) 313

@ M3 . @ 998 ) (

SECTION B - (7 X 2 marks)

There are 7 questions in this section.

Read the questions carefully. Write your answer in the space pmv;de.d
Please show. ALL your workings clearly.

'6)  Write four hundred and ohe in numerals.

Arrange these numbers beginning with the smallest.

smalles?



8) Complete the mmber pattern.

9) 1morethan 699 is

10) 369 is in between 368 and

1) @+ 398:518

O+t &+ @+

12)

Use the digits above o form the greatest 3-digit number. (You may use
each digit once only)




SECTIONC~(Z2x 3 marks)
There are 2 quesﬁom in this section.

Read the. quashfms care.f!ﬁly Show il your working cle,arly
Write your timber sefifence.

"13)  Susanhas 341 S'hckers
She has 28 fewer stickers than Tini.

(@) How many stickers does Tini have? .

Tini has schkers.

(b} How many stickers do the two girls have altogether?

They have stickers altogether

_é/



14)

On Monday, Mr. Tan earned $100.
On Tuesday, he earned $150 and on Wednesday he. ectrned $200.
Everyday, he earned $50 more than the day before, how much would

he.earn on.Saturday?
Days Mr. Tan's earnings
.Mond'ay- $100
Tuesday $150
Wednebday $200 .
Thursday
Friday
Saturday
He earned ‘ on Saturday.

Have you
checked
your work?

Working




ANSWER SHEET
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SCHOOL : ROSYTH SCHOOL

SUBJECT : PRIMARY 2 - MATHEMATICS
TERM : CA1

Q1 Q2 Q3 Q4 Q5 Q6
3 1 2 2

6) 401

© 7)101, 110, 123, 312, 321
8) 251, 51

9) 700

10) 370

11) 360

12) 961

13a) 341 + 28 = 369
Tini has 369 stickers.

13b) 369 + 341 = 710
They have 710 stickers altogether.

14) Thursday: $250
Friday: $300
Saturday: $350
He earned $350 on Saturday.
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